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General Instructions :
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(i) The question paper has 30 questions in all. All questions are
compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer
Questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.

(iv) Questions from serial number 9 to 20 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(v) Questions from serial number 21 to 28 are 5 marks questions.
Answers of these questions should not exceed 120 words
each.

(vi) Question number 29 and 30 are map questions of 3 marks
each from History and Geography both. After completion,
attach the maps inside your answer-book.
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1. 1930 ¥ <foral st ‘fa ot vaifouee’ 8§ foraa gmfeq fomam o ? 1

Who organised Dalits into the ‘Depressed Classes Association’ in

1930 ?

2. ‘T-cfiror nferem’ & efeolt B % Tue 1 W fafge | 1

Name the southern terminal station of the ‘North-South Corridor.’

3. A 19 forelt TXhRT fawmT o SwRi-haidl 1 T I AT 91=d <,
LERCIEAE R BCatea B RIU Rt I 1

If you want to extract information about the functions of any

government department, which right would you exercise ?

4. ‘THIfaE e 0 o1ef wE iR | 1

Explain the meaning of ‘political party.’

5. 3UMIHI o A ok SRR T IS Ueh IaTevl SIS | 1

Give any one example of consumer’s ‘right to choose.’

6. ‘TEE-UUE! oI AT hE BT © 7 1

How do ‘pressure groups’ form ?

7. 9Nd % foRe U GeTa-THE’ 1 ITE SINIT S TSI g ol U
@1 & B9 § 1 il § | 1

Give an example of any ‘pressure group’ of India which functions

as a branch of ‘political party.’
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8. SATIHATST o Srel WA § Ft THET hl IR hIAC | 1

Highlight the inherent problem in double coincidence of

wants.

9. YRd H IYNIAI TSI o TR 8 oh foheal ol hRUT bl fogeiwor
e | 3x1=3

Analyse any three reasons for the beginning of the consumer

movement in India.

10. IR0 | FAUSAN AT o EHT IS4 o foheg] 9 shIon i fagersor
Fhifera | 3x1=3

Analyse any three reasons for slowed down of Non-Cooperation

Movement in cities.

11. 5o Taf- w3 o 9k 9 © | Toh doht e shi 8 i | 3x1=3

“Banks are efficient medium of exchange.” Support the statement

with arguments.

12. T9E TR AR IMEIaH; TSHITT i foFd TR TwTfod id & ? 3aTeton
Hfed T shife(y | 3x1=3

How do the pressure groups and movements influence politics ?

Explain with examples.
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13. I QT STl hl Teh T € O T T AW - ST oh ToTe, aiEe

o i U9 Ge| G1eH =1 A @ 7 IS dfed T8 hifSu | 3x1=3

Why do the movement of goods and services from one place to
another require fast and efficient means of transport ? Explain with

examples.

14. Y qUT I 61 IRETER Fdtar 1 3eTewn gr g Hifvw | 3x1=3

Explain with examples the interdependence of agriculture and

industries.

15. ‘e fed wel 9 form yenr T € 7 Serel dfed T ifse | 3x1=3

How are ‘movements’ different from interest groups ? Explain

with examples.

16. FIETET SIfqRINET §RT BIEE AT H Gfeeh qe= sl WaH1 9aT1
& e 331w 77U fordi i shedi o1 ool ST | 3x1=3

AT

forram T STl & hest % wre famaiEl ) ferht # s e
o STeATal BT U ShIfSTU |

Describe any three steps taken by the French revolutionaries to

create a sense of collective identity amongst the French people.

Or

Describe any three changes that came in the life of Vietnamese

after the colonisation of Vietnam by the French.
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17. TR i SEA I aTet foheel i ot ot foreetyor shife | 3x1=3

Analyse any three values that make democracy better.

18. TAIT ARG o G TFATE ol TThR i | i T, 1l ua
ot a11fe o AR 1 YoTeRd it | 3x1=3

Evaluate the contribution of folklore, songs, popular prints etc., in

shaping the nationalism during freedom struggle.

19. ‘SgULE FAHA % Wiy e T wuEr R Jer arread
Bt 2 7 ot i et <kt Hoare i | 3x1=3
How are ‘local companies’ benefited by collaborating with

‘multinational companies’ ? Evaluate any three benefits.

20. IR H g 3TIER ol HAMSU-FRES Yol hl fohedl 14 TorRiwarai
UM AT | 3x1=3
Describe any three characteristics of ‘Odisha-Jharkhand belt” of

iron ore in India.

21. IAveteRtur <1 UfshaT 1 ST @4 H TENfieh! o INeME o1 9uiH hifSe | 5x1=5

Describe the contribution of technology in promoting the process

of globalisation.
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22.

23.

24.

25.

A | TSI el § gUR @M o o fope 7o fonedi ater st o
Fuig i | 5%x1=5

Describe any five efforts made to reform political parties in India.

‘RA § ggeh qiaed, o1t off 1 diEed i e AUk gl
21 e it gfy Fifs | 5x1=5

‘Roadways still have an edge over railways in India.” Support the

statement.

o o N

T 1815 T ‘foaaan weier’ &l At forem ft ? ‘T wfer’ & g
TR0 T3 g e skt fergeteor shifsTY | |+4=5

HAYAT

forraam & agrvare foieh wraarett @t S e B OgreT-gre
3TTaTe <l firehT ot forgetsor shifsre |

Who hosted ‘Vienna Congress’ in 1815 ? Analyse the main

changes brought by the ‘Vienna Treaty.’

Or

Analyse the role of ‘Hoa-Hao’ movement to arouse anti-imperialist

sentiments in Vietnam.

‘TSR Q1 o SHE hIAT Rl ToeeiyoT hifT | 5x1=5

Analyse the main functions of ‘political parties.’
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26. “‘meTeaT et o o iR TR Y STEENT % SR § ST Oegl s
1ot Twe oft |77 e ot gfE Shifs | 5x1=5

“Plantation ~ workers had their own understanding of
Mahatma Gandhi’s ideas and the notion of ‘Swaraj’.” Support the

statement.

27. 9K § fwi v fafoemt f stewerdr = 37 3Rl e Wy
shifsu | 5%1=5

Why are rules and regulations needed in the market ? Explain with

examples.

28. YA o UeHA JUN o GHIE fohrel Q1 TH@ THITG ohi T8 hifT | TSR
gegH it o fohgl fiF 3T <l R hifT | 2+3=5

Explain any two main challenges faced by the jute industry in

India. Explain any three objectives of National Jute Policy.

o

29. iH AL A, B 3R C, 9YRd & U MU TeiHIfdes {@T-AMs § 3fhd
foru w2 | 39 @eIon Rt FEfefgd SRR i @R @ YR 3R
3 TR A T W)l 1E et w faigu 3x1=3

A. ‘STEEAN ARIA hl 9 - O FraIf-rd I |

B. 9% TN & TRl 1 g’ & gt o1 |

C. 9% TIM SRl RS TR Hirg’ o STREeH gt o |
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Three features A, B and C are marked on the given political outline
map of India. Identify these features with the help of the following
information and write their correct names on the lines marked on

the map :

A. The place, related to the calling off the ‘Non-Cooperation

Movement.’
B. The place where the ‘Peasant’s Satyagraha’ was started.

C. Name the place where ‘Indian National Congress’ session was

held.

dte : HEfaiad T e greatiem ufeteEat o g S99 @ 29 %

WHWE:
(29.1) STEAN A H IUE oH U TEYd TE HT AW
fetfaT |

(29.2) TSRIG § 9% I A1 TIH 7, SRl haHl 4 GemE’ e
IEDI

(29.3) 3| TyH &1 9W foiflay S=f 1927 § aRd™ TF wEE FH
STTReNT gt o |
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Note : The following questions are for the Visually Impaired

30.

32/1/2

Candidates only, in lieu of Q. No. 29 :

(29.1) Name the place related to the calling off the Non-

Cooperation Movement.

(29.2) Which 1is the place where the peasants started

‘Satyagraha’ in Gujarat ?

(29.3) Name the place where Indian National Congress session

was held in 1927.

I o QU U TeHIfae {@n-amtes ®§ fefaiad i 3ug® el 8

A. 9d9 - ARI-3WId S
B. ®Edl - YW YA IO
C. TEERE — YlFEIIR SHIATS TTeh

On the given political outline map of India locate and label the

following with appropriate symbols :

A. Salem — Iron and Steel Centre
B. Kandla — Major Sea Port

C. Hyderabad - Software Technology Park
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Note :

32/1/2

frfafigd e hae gieartam wdenidet & fou g g@n 30 *

T WE:
(30.1) dfierrg H fedra emfoaes St G w1 9 forfaw |
(30.2) STfem & FA O T T o fEra & 7

(30.3) YR “<AreT 9 3eard T’ foha Tsa o fea 3 7

The following questions are for the Visually Impaired

Candidates only in lieu of Q. No. 30 :
(30.1) Name the Nuclear Plant located in Tamil Nadu.
(30.2) Which is the major Sea Port located in Odisha.

(30.3) In which state is Durgapur ‘Iron and Steel Plant’

located ?
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